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General Instructions :

(i) Please read the instructions carefully.
(ii) This question paper consists of 24 questions in two Sections : Section A and
Section B.
(iii)  Section A has Objective type questions whereas Section B contains Subjective
type questions.
(iv)  Out of the given (6 + 18) = 24 questions, a candidate has to answer
(6 + 11) = 17 questions in the allotted (maximum) time of 3 hours.
) All questions of a particular section must be attempted in the correct order.
(vi)  Section A : Objective Type Questions (30 marks) :
(a) This section has 6 questions.
(b) There is no negative marking.
(c) Do as per the instructions given.
(d)  Marks allotted are mentioned against each question/part.
(vii)  Section B : Subjective Type Questions (30 marks) :
(a) This section has 18 questions.
(b) A candidate has to do 11 questions.
(c) Do as per the instructions given.
(d)  Marks allotted are mentioned against each question/part.
SECTION A
(Objective Type Questions) (30 Marks)
1.  Answer any 4 out of the given 6 questions on Employability Skills. 4x1=4
(1) Although Salma had some doubt, she found the courses very useful.
Name the type of sentence.
(i1))  According to Trait theory, combining a set of observable traits into a group
forms
(A) anindividual’s personality (B) physical health
(C) an appearance (D) positivity
(i)  What is meant by Service Entrepreneurs ?
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(iv)  Self-motivation is important because it increases the individual’s

(A) happiness (B) moral values
(C) dignity (D) energy and activity
(v)  Wecan a file with a mouse by double clicking on the file.
(vi) is one of the steps that green jobs can take to reduce

greenhouse gas emissions.

(A) Using hot water

(B) Deforestation

(C)  Overheating appliances

(D) Buying energy efficient products

2.  Answer any 5 out of the given 7 questions. SxI=5
(1) When the tank pressure of an air compressor reaches its upper limit, the air
compressor

(A) diverts the pressure
(B) releases its pressure
(C)  shuts off

(D) continues to operate
(i1) type of compressor is used in automobiles.

(i)  Automotive compressors are compressors that use

up-and-down stroke of the piston to allow air in and pressurize the air within
the storage tank.

(A) combustion engine (B) axial engine

(C) vertical engine (D) inline engine

(iv) A manual car washer consists of an electric motor which moves the crank
and piston with the help of _

(A) helical gears (B) chain pulley
(C) sprocket (D) V-belt

V) The emission norms Bharat-I, Bharat-II, etc., developed in the automobile

industry are based on norms.
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(vi)  One of the advantages of wheel balancing is that it will
(A) remove stress from the vehicle
(B) increase the speed of the vehicle
(C) increase the sprung weight

(D) decrease the sprung weight

(vil) The axle, which does not rotate with the road wheels, but supports the

vehicle load and provides mounting mechanism for wheels is called

(A) live axle (B) dead axle

(C) axle casing (D) stub axle
3.  Answer any 6 out of the given 7 questions. 6x1=6
(1) The power steering fluid reservoir stores fluid and cleans it using a
(A) cleaning agent (B) pump
(C) built-in filter (D) control valve
(i1)  In electronic power steering, a magnet and a/an are mounted at

the end of the steering shatft.
(A) solenoid switch (B) magnet torque sensor

(C) safety valve (D) electronic control unit

(iii)  Inrack and pinion gear box, the movement of the rack is transmitted through
the to steer the front wheel.

(iv)  The steering axis inclination is the angle made by the ball joint axis with the

(A) plane (B) horizontal
(C) lateral (D) wvertical
(v)  The owner of the vehicle is legally liable for any injury or damage to

life or property caused by or arising out of the use of the

vehicle in public place.
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(vi)  If the kingpin centreline meets the ground at a point ahead of the vertical
wheel centreline, (top of the kingpin is inwards towards the rear of the
vehicle), it is called
(A) zero caster (B) positive caster

(C) negative caster (D) positive camber

(vii)  If the wheels may be set closer at the rear than at the front, the angle is called

(A) toe-out (B) positive

(C) negative (D) toe-in
4.  Answer any 5 out of the given 6 questions. SxI=5

(1) Each of the leaves of the leaf spring is also tapered at the ends, so that they

exert proper amount of pressure, when they come in contact with

(A) main leaf (B) centre bolt
(C) each other (D) axle beam
(1))  The coil springs are mostly used in the suspension system.
(A) hydraulic (B) air
(C) conventional (D) independent
(i)  In heavy vehicles is provided on rear wheels, to reduce the shocks.

(iv)  One of the advantages of MacPherson Strut suspension is that it is simple in
construction and .

(A) light in weight (B) heavy in weight
(C) flexible (D) rngd

(v)  In case of death of the registered owner of the vehicle, the application for
transfer of ownership of the vehicle should be submitted within
days of death.

(vi)  One of the characteristics of leaf spring is that they control their own
oscillation through
(A) single leaf friction (B) interleaf friction

(C) external friction (D) medium weight friction
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5.  Answer any 5 out of the given 6 questions. SxI=5
(1) The propeller shaft is made of steel tube, having high resistance against
forces.
(A) static (B) upward and downward
(C) horizontal (D) torsional and bending

(i1)  In variable velocity joints, the driven and driving shaft should be in straight

line, so that they may turn at same speed through each part of the

(A) 1inward motion (B) forward motion
(C) revolution (D) upward motion
(i)  In hypoid gear type of final drive gears, the teeth arecutin __ curve.
(A) circular (B) hyperbola
(C) semi-circular (D) joint

(iv)  In full-floating type of rear live axles, the axle shaft can be removed without

removing the

V) The ring gear (crown wheel) of the final drive is attached to a differential

case which contains four bevel types , all facing inward.

(vi)  Inthe type of final drive, the drive wheel is connected with the

gear box by means of chain and sprocket.

(A) chain (B) gear
(C) straight bevel (D) spiral bevel
6.  Answer any 5 out of the given 6 questions. SxI=5
(1) Alternators (AC generators) are compact, light weight and efficient at

engine speed.

(i) It is the drive mechanism of starter motor, that transmits the torque

developed by the motor to the for starting (cranking) the
engine.

(A) transmission (B) engine control unit

(C) final drive (D) engine flywheel
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(i11))  Air flow sensor is a device that is used in conjunction with an oxygen sensor

to accurately measure the flow of air into

(A) fuel injection engine (B) combustion chamber
(C) induction manifold (D) carburettor
(1v) is a system that sends fresh air through the crankcase to sweep

out blow-by and fuel vapours.

(A) Crankcase filter

(B) Positive crankcase ventilation
(C)  Open crankcase ventilation

(D) Negative crankcase ventilation

V) The electronic control unit serves as the control centre for all of the

in a car.
(A) monitors (B) control switches
(C) regulators (D) sensors
(vi)  There is for adjusting and stabilizing the idle speed or
electronic throttle body and finally a fuel pressure regulator and fuel
injector(s).
SECTION B
(Subjective Type Questions) (30 Marks)

Answer any 3 out of the given § questions on employability skills. Answer each question
in 20 — 30 words. 3x2=6

7.  Write an example of imperative sentence.

8.  Write any two factors responsible for shaping the personality.

9.  Write any two characteristics of entrepreneurship.

10. What do you understand by Speaker Notes in Presentation software ?

11. Write any two jobs in water conservation.
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Answer any 3 out of the given 5 questions in 20 — 30 words each. 3x2=6
12. What do you understand by Vane compressor ?

13. Write the purpose of providing toe-out in the steering system.

14. Write two functions of shock absorbers in a suspension system.

15. Write the purpose of slip joint (or sliding joint) in propeller shaft.

16. Name two types of Motor Insurance policies.

Answer any 2 out of the given 3 questions in 30 — 50 words each. 2x3=6
17. Explain the mandatory road safety signs.
18. Why do we provide centre bearing in propeller shaft ?

19. Write the names of the main components of the starting system.

Answer any 3 out of the given 5 questions in 50 — 80 words each. Ix4=12

20. Ankita/Ankit is working as a mechanic in an automobile workshop. She/He
receives a car for repair with defect of “electric steering on braking”. Advise

her/him to check for various probable causes of the defect with their remedies.

21. Write the difference between manual and automatic transmission.
22. Explain the working principle of DC generator or Dynamo.
23. Explain the working of spark plug cleaner in gap testing.

24. Write the various advantages of MacPherson Strut suspension used in passenger

cars.
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